Assembly Instructions for the Treated
Pine Garden Bench

Parts List

Seat (1)

Back (1)
Left Leg Assembly (1)
Right Leg Assembly (1)

Hardware

1/4” x 3-1/4” Carriage Bolts (16)
1/4” Flange Nuts (16)

Tools Needed for Assembly
Hammer
7/16” Socket

Step 1

Step 2

Attach the assembled back and seat
together using the 3-1/4” carriage bolts
and flange nuts.

Attach the arm and leg assembly to the
back and seat unit sides using the

3-1/4” carriage bolts and 1/4” flange nuts
(be sure the curve faces the outside on

the arm when assembly-please view photo).

Treated Pine Heartback Garden Bench Shown

Cracks may occur with these products. This is a normal and natural occurrence in wood,
and will not affect the structural integrity of the wood and this product.



